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public class Body {
String name; — A (3XF5)
double height; — R (Z#1E)
double weight; — RE (EH1E)
}
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public class Body {
String name; — A (3XF5) flame
double height; — R (Z#1E) height
double weight; — RE (EH1E) weight
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Body person;
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person = new Body();
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person
name -+ person.name

height ---  person.height
weight .-+ person.weight
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person
name -+ person.name
height ---  person.height
weight .-+ person.weight
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person.name = "Frank"; 'ﬁiiiiﬁ
.height = 175.0;
person.heig —

.weight = 63.5;
person.weig o
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Body. java

public class Body {
String name;
double height, weight;
b
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public class SampleBodyl {
public static void main(String[] args) {
Body stl = new Body();
stl.name = "Frank"; stl.height = 175.0; stl.weight = 63.5;

Body st2 = new Body();
st2.name = "Thomas"; st2.height = 177.0; st2.weight = 72.0;

System.out.println("Student 1");
System.out.println(" " + stl.name);
System.out.println(" " + sti.height + " cm");
System.out.println(" " + stl.weight + " kg");
System.out.println("Student 2");
System.out.println(" " + st2.name);
System.out.println(" " + st2.height + " cm");
System.out.println(" " + st2.weight + " kg");
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$ javac_Body.java (#]
$ javac_SampleBodyl.java (]
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Student 1

Frank

175.0 cm
63.5 kg
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SampleBodyl. java Cl&. ..

Body stl = new BodyQ);
stl.name = "Frank";
stl.height = 175.0;
stl.weight = 63.5;

0 Body 7 ZADAVAYVRAEERL, XA VNICEERE
o A VR VADEREBBFICINSODEEFRE LWL



AVANT 4

SampleBodyl. java Cl&. ..

Body stl = new BodyQ);
stl.name = "Frank";
stl.height = 175.0;
stl.weight 63.5;
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public class Body {

String name;
double height, weight;

public Body(String n, double h, double w) {
name = n; height = h; weight = w;

}
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public class Body {
String name;
double height, weight;
public Body(String n, double h, double w) {
name = n; height = h; weight = w;
}
}
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Body person = new Body("Thomas", 177.0, 72.0);
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public Body() {
name = " u;

height

weight

}
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public Body(double h, double w) {
nn.
h;
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Body. java
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public class Body {
String name;
double height, weight;

public Body() {

name = ""; height = 0.0; weight = 0.0;
}
public Body(double h, double w) {

name = ||||; height = h; weight = W,
}

public Body(String n, double h, double w) {
name = n; height = h; weight = w;

}
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public class SampleBody2 {
public static void main(String[] args) {
Body stl = new Body("Frank", 175.0, 63.5);
Body st2 = new Body(177.0, 72.0);

Body st3 = new BodyQ);
System.out.println("Student 1");
System.out.println(" " + stl.name);
System.out.println(" " + stl.height + " cm");
System.out.println(" " + stl.weight + " kg");
}
}
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Sytem.out.println("Student 1");

Sytem.out.println(" " + stl.name);
Sytem.out.println(" " + stl.height + " cm");
Sytem.out.println(" " + stl.weight + " kg");
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SampleBody2. java Cld. ..

Sytem.out.println("Student 1");

Sytem.out.println(" " + stl.name);
Sytem.out.println(" " + stl.height + " cm");
Sytem.out.println(" " + stl.weight + " kg");
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public class Body {
String name;
double height; weight;
/¥ AVANSVIDEE */

public void print() {

System.out.println(" name :
System.out.println("height :
System.out.println("weight :

}
}

" + name);
" + height + " cm");
"+ weight + " kg");
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public class Body {
String name;
double height; weight;
/¥ AVANSVIDEE */

public void print() {

}
}

-

System.out.println(" name :
System.out.println("height :
System.out.println("weight :

" + name);
" + height + " cm");
"+ weight + " kg");
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Body person = new Body("Frank", 175.0, 63.5);

person.print();
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Body. java
public class Body {
String name;
double height, weight;
public Body() {

name = ""; height = 0.0; weight = 0.0;
}
public Body(double h, double w) {

name =""; height = h; weight = w;
}

public Body(String n, double h, double w) {
name = n; height = h; weight = w;

}

public double stdWeight() {
return height * height * 22 / 10000;

}

public void print() {
System.out.println(" name : " + name);
System.out.println("height : " + height + " cm");
System.out.println("weight : " + weight + " kg");

}

¥
N




7005 L6 (3)

SampleBody3. java

public class SampleBody3 {

public static void main(String[] args) {
double sw;
System.out.println("== Student 1 ==");
Body stl = new Body("Frank", 175.0, 63.5);
stl.print();
sw = stl.stdWeight();
System.out.println("standard weight : " + sw);
System.out.println("== Student 2 ==");
Body st2 = new Body("Thomas", 177.0, 72.0);
st2.print();
sw = st2.stdWeight();
System.out.println("standard weight : " + sw);
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SampleBody4. java

public class SampleBody4 {
public static void main(String[] args) {

Body stl = new Body("Frank", 175.0, 63.5);

Body st2;
st2 = sti;
st2.name = "Robert";

System.out.println("== Student 2 ==");
st2.print();
System.out.println("== Student 1 ==");
stl.print();
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$ java,SampleBody4
= Student 2 ==
name : Robert
height : 175.0 cm
weight : 63.5 kg
= Student 1 ==
name : Robert

height : 175.0 cm
\\weight : 63.5 kg )
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